2 Abbeon Cal, Inc.

Industrial Plastic Working Equipment & Precision Instruments

Abbeon Cal, Inc.,
1363 Donlon Street Unit 1, Ventura, CA 93003-8387
800-922-0977 www.Abbeon.com

E-mail: abbeoncal@abbeon.com

SERVICE KIT COMPONENTS

LM168 LM169 ~ LM170
Model 500 Model 800 | Model 1200
""" 1 SetOflnstructions N NN
1 Box 3
1 Siphon Pump
1 |Pair Safety glasses
,,,,,,,,,,,,,, Pairdisposablegloves
1 Wire brush \' \' V'
1 Wire wool scouring pad ' \ \
1 Bristle handle brush \' \' '
2 Sight tube clips \' \' \'

1 PVC6mm clear tube T piece to gas oulet 460mm
2 PVC 6mm clear tube T piece to cell top 65mm
1 Cell connection Tube 110mm v
2 Cell tube connection clips \'

6 Wire ties ' \'}
1 Cell gasket \' \'
2 Cell gaskets 3 v
4 Cell insulators \' \'

8 Cellinsulators '

1 Flash back replacement body \' \'
2 Polo washer \' '
2 |Plain washer \' \'

777777 1 Case insulator \'} v

1.5 Metres neoprene tubing v v

""" 1 mM8put oy Y

""" 1 M8washer N N
3 M8 nuts \)
3 M8 washers \)
4 M6 washer large v v 3
4 M6 washer small \' \'

8 M6 nuts \J \J




AQUAFLAME

SERVICE KIT COMPONENTS

,,,,,, 8 Mé6washerlarge Y
8 M6 washer small v

16 M6 nuts v
1 Fuse 5 amp 240 volt : :

1 Corrosive label

* Complete mixture of chemicals will be needed to refill machine after servicing (See
chemical mixture from Getting Started brochure).

Industrial Plastic Working Equipment & Precision Instruments

Abbeon Cal, Inc.,
1363 Donlon Street Unit 1, Ventura, CA 93003-8387
800-922-0977 www.Abbeon.com
E-mail: abbeoncal@abbeon.com



